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FLUID MECHANICS
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Note : There are THREE sections in the paper A, B and C.

(i) @FT ¢ A 5 e 1 F g 10 7T & 3o AT | FF 97T G 37 F1 8 U
& 10 57T T8 TFR S TAF 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

i) QT A F 8 9w 4 G €1 6 gval & Fev AT | FF FH 3 3F B8 0
577 5 AT / 50 TG 7 IR AT |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QFAH F6 T H 8 el 4 gl & I AT | FeE 99 8 3 BT 8 T
3737 15 5 / 150 &1 4 I e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

) mw#mwﬂaﬁwmwsﬁaﬁﬁw

Solve all the questions of a section consecutively together.

(vi) ﬁ#wﬁ#mﬁ#aﬁ@:ﬁﬁmﬁsﬁmsﬁm?/

Only English version is valid in case of difference in both the languages.

A - T
Section — A
L () T A9 d 276 T Zd 61§ HTIaH 1 FeAHH -
(a) FATdfeh R (b) ImifEe aacd
(c) ZoIHH T d) HETE
The mass per unit volume of a liquid at standard temperature and pressure is —
(a) Specific weight (b) Specific gravity

(c) Mass density (d) None of the above
ﬁ (1 of 4) P.T.0.
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fredt 78wt <t ofg e SR & HIOT A 2 |
(a) YBTEE (b) HdrEETar
(c) gl (d) <Hfvrhea
The falling drop of a water takes spherical shape due to
(a) Surface Tension (b) Compressibility
(¢c) Viscosity (d) Capillarity
| 9TEhel %1 0H 2 -
(@) 1N/m? (b) 1 kN/m?
() 1Mn/m? (d) IS e
1 Pa is equal to
(a) 1 N/m? (b) 1 kN/m?
(¢) 1 Mn/m? (d) None of the above
frg e 2 -

(a) wHMIgE - agEvSEHEgE (b)) WAl g + fatd g
(c) dAFHUESHIETE + i g (d) SAYAvESE g - yETd g

Absolute pressure is —

(a) Gauge Pressure — Atmospheric Pressure
(b) Gauge Pressure + Vacuum Pressure

(¢) Atmospheric Pressure + Gauge Pressure
(d) Atmospheric Pressure — Gauge Pressure
Hiaed qHier 3aTfia 2 frm T |

(a) Hall HLEw (b) ZEEHTH HI&O

(c) & HLEo (d) 39T g+t
Continuity equation is based on law of .

(a) Energy conservation (b) Mass conservation

(c) Momentum conservation (d) All of the above

UH1 waTe 57 2 & 1 1 9 TRy & Yok Hie 9 EHH &, HET 2
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(a) THEAH YATE (b) HTRE yaE
(c) Fufad yam (d) @drga yare
A flow in which the velocity of liquid particles at all sections of the pipe are equal,
is called —
}ag Uniform flow gb_) Streamline flow
¢) Steady flow d) Compressible flow
(vii) AT FHiER % AR
(a z+pt+tv=c (b) 2+ 2 Y —¢
w g
p Vv’ p v
(¢) z+ =+—=¢ d z+=+—=c
w g w 2g
According to Bernoulli’s equation
(a) z+ptv=c (b) z+_P_+X=C
w g
p V? p v
() z+=+—=c d z+=+—=c¢
w g w 2g
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(viii)@Bd 59 & 1 19 3 o3 Fegrtiardi s A R |

(a) @ (b) ==

(¢) Frem (d) IoEE gt

A venturimeter is used to measure of flowing liquid.
(a) velocity (b) pressure

(¢) discharge (d) All of the above

(ix) 2 % 9aR G W g 3 g
(@) 2gh ®) 2ygh

(¢ 2gvh (d) 2gh
w&l, h = G T e
The theoretical velocity of the jet at Vena contracta
(@) +2gh (b) 24gh
€ 2gvh (d) 2gh
where. h = head at Vena contracta
(x) iTREE < w1 e R, At
@ H=5Vd (b) H<5d
(¢) H>5d ‘ (d) Iued H & B3 E
&, H = Jeeid, d = 7@ =7
An orifice is said to be large if -
@ H=5d (b) H<5d
() H>5d (d) None of the above
where. H = water head, d = orifice dia.

Fage — &
Section - B

aﬁmmmmﬁf&mmﬁmﬁm’n

Differentiate between specific weight and specific gravity.

aaiﬁamﬁmwmﬂi 7 gt 3aTs feral |

What do you understand by the term pressure intensity ? State its unit.

HT ferat -
Differentiate between :
(i) UM a1 FEAH FaTR
Uniform & Non-uniform flow
iy fer aun sifeR v
Steady and Unsteady flow
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[

Tuy 3 | 39 &= GHHd 8 ? 98d 29 & o1 {9y Y 991 999 FHui 7§ 3l T8 H |

What do you understand by total head ? Clarify the difference between total energy

and total head for a flowing fluid. (3)
a1 g A1dt 1 G avia & |

Describe Bourdon’s tube pressure gauge with diagram. 3)
Segttardt w1 wfas qagna |

Explain Venturimeter with diagram. 3)
Fiififes et 71 2 7 fafu= e & sififes e &1 wwgmsd |

What is Orificemeter ? Explain different types of Orificemeter. (1+2)

TSy H YETE o <A S8 | AR {Ere gfg & o 3 &fd @i wmena |

Explain loss of head due to sudden enlargement in diameter in flow through pipes. (3)

e -t
Section - C
U U Felt gramrdt au Yegas U et grammdt o afam awenst |

Explain simple ‘U’ tube manometer and differential ‘U’ tube manometer with

diagrams. (8)
Hiacd HHIHI01 1 GHAIHT Ud 356! HAd131 ! forat |
Describe continuity equation with its assumptions. (8)

e WUW Fhre #9127 g@ (Amfea) % faf= g et @ ufonfya #@ g s
T 1 U |

What is Vena-Contracta ? Describe different hydraulic coefficients and find out
relationship between them for orifice. (8)

dieie @ i wrdvvTeft #i wfam e | @R I Ta FE H I P I A A 7

Explain the working of Pitot tube with diagram. How is it used to measure flow

velocity ? (8)
u1gy ® yarfed za ® g areft 3fid w1 3 ford S1sht & g3 =6 wwenan |
Explain Chezy’s formula for finding head loss in flowing liquid in pipes. (8)

20 |1, =amE & ursy # 10 WA, =@ i ifeE, Affee de § et aJd 2
FHifeE yate & 9gdt 9 91e @ T gre i G e 19.62 N/em? @ 9.81 N/em?
# | uTgu § It o YaTE A H | C, = 0.6 |

An orificemeter with orifice diameter 10 cm is inserted in a pipe of 20 cm diameter.

The pressure gauge fitted upstream and down stream give readings of 19.62 N/cm?
and 9.81 N/cm? respectively. Find discharge of water through pipe. Take C 4=0.6. (8)




